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RIER b AR X EGEH =

HX3—2 BEMIERTILATSNIERICHISEE1/2 _ _ REFE | THRISEE
2taftOuE | BHES | 149A0472 [ A | XiRQ) EETENE S ST
SERMO TinICHEET S ZER A
ﬁg TREOBEBOSILHOKRES ITREOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBEILIOKRES
"R ma | B TR e L B | Ve | o | B2 | | TR e | B | TR e
1 100kN/m##8% % 1.00{ 0.00 ~ 3.23 151.63|3m%#%%| 0.00 ~ 0.36] 3.21 17.18| 100kN/m%E#BZ % 1.00{ 10.77 ~ 28.00 151.63| 3m%#x 5| 25.00 ~ 28.00( 3.21 17.18
s 1.00] 3.23 ~ 11.01 100.00f Z=hkl9t+ | 0.36 ~ 11.01] 3.00 16.05 s 1.00f 5.00 ~ 10.77 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 3.80 161.83|3m%#%%| 0.00 ~ 1.56| 3.81 20.41| 100kN/m#%#8% % 1.00{ 10.69 ~ 41.12 161.83| 3m%#x 5| 25.00 ~ 41.12 3.81 20.41
s 1.00{ 3.80 ~ 11.59 100.00| #+list | 1.56 ~ 11.59| 3.00 16.05 s 1.00f 5.00 ~ 10.69 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
3 100kN/m##8 %% 1.00{ 0.00 ~ 3.83 162.27|3m%x# %% 0.00 ~ 1.66 3.89 20.82| 100kN/m#%#8% % 1.00{ 10.88 ~ 41.12 162.27| 3m%x#8% %] 25.00 ~ 41.12| 3.89 20.82
s 1.00]| 3.83 ~ 11.61 100.00| #+List | 1.66 ~ 11.61| 3.00 16.05 s 1.00f 5.00 ~ 10.88 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
4 100kN/m##8 %% 1.00{ 0.00 ~ 3.85 162.66|3m*x#%%|0.00 ~ 1.84 4.05 21.66| 100kN/m#%#8% % 1.00{ 1148 ~ 45.12 162.66|3m*x#8% 5| 25.00 ~ 45.12| 4.05 21.66
s 1.00{3.85 ~ 11.63 100.00| #+#list | 1.84 ~ 11.63] 3.00 16.05 s 1.00f 500 ~ 11.48 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
5 100kN/m##8 %% 1.00{ 0.00 ~ 3.85 162.69|3m*x# %% 0.00 ~ 2.81| 4.56 24.39| 100kN/m%#8% % 1.00{ 11.91 ~ 50.46 162.69| 3m%x#% %] 20.00 ~ 50.46| 4.56 24.39
s 1.00{3.85 ~ 11.63 100.00f Zhlst | 2.81 ~ 11.63] 3.00 16.05 s 1.00f 500 ~ 11.91 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
6 100kN/m##8 %% 1.00{ 0.00 ~ 3.88 163.33| 3m%x# %% 0.00 ~ 2.78 4.53 24.22| 100kN/m%# %% 1.00{ 11.74 ~ 50.46 163.33| 3m%x#% 5| 20.00 ~ 50.46| 4.53 24.22
s 1.00{ 3.88 ~ 11.67 100.00f Zhklst |2.78 ~ 11.67| 3.00 16.05 s 1.00f 500 ~ 11.74 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
7 100kN/m##8 %% 1.00{ 0.00 ~ 3.92 164.07|3m%#%%| 0.00 ~ 2.34| 4.11 22.01| 100kN/m%# %% 1.00{ 10.56 ~ 64.00 164.07| 3m%#x 5| 25.00 ~ 64.00( 4.11 22.01
s 1.00]3.92 ~ 11.71 100.00f Zhlst |2.34 ~ 11.71] 3.00 16.05 st 1.00f 5.00 ~ 10.56 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
8 100kN/m##8 %% 1.00{ 0.00 ~ 3.90 163.61|3m%x# %% 0.00 ~ 2.31| 4.09 21.89| 100kN/mM#%#8% % 1.00( 10.54 ~ 67.26 163.61|3m%#% 5| 25.00 ~ 67.26| 4.09 21.89
s 1.00{3.90 ~ 11.68 100.00f Zhlst | 2.31 ~ 11.68] 3.00 16.05 st 1.00f 5.00 ~ 10.54 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
10 100kN/m##8 %% 1.00{0.00 ~ 2.10 132.50| 3m*x# %% 0.00 ~ 1.49( 3.57 19.11| 100kN/M%E#B 2% 1.00| 12.66 ~ 78.80 132.50| 3m%*#% %| 40.00 ~ 78.80| 3.57 19.11
s 1.00{2.10 ~ 9.88 100.00| #+list | 1.49 ~ 9.88| 3.00 16.05 s 1.00f 500 ~ 12.66 100.00f Z=hkl4t+ | 5.00 ~ 40.00( 3.00 16.05
11 100kN/m##8% % 1.00{ 0.00 ~ 3.59 158.10| 3m*# %% 0.00 ~ 1.30[ 3.62 19.39| 100kN/m#%#8 2% 1.00{ 10.54 ~ 44.00 158.10| 3m%x# % %| 25.00 ~ 44.00| 3.62 19.39
s 1.00{ 3.59 ~ 11.38 100.00| #+list 1 1.30 ~ 11.38] 3.00 16.05 st 1.00f 5.00 ~ 10.54 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
12 100kN/m##8% % 1.00{0.00 ~ 3.72 160.41|3m%x# %% 0.00 ~ 1.48| 3.75 20.07| 100kN/m#%#8% % 1.00{ 10.58 ~ 40.00 160.41|3m%x# % %| 25.00 ~ 40.00| 3.75 20.07
s 1.00]3.72 ~ 11.51 100.00| #+List | 1.48 ~ 11.51| 3.00 16.05 st 1.00f 5.00 ~ 10.58 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
13 100kN/m##8% % 1.00{ 0.00 ~ 3.52 156.79| 3m%x# %% 0.00 ~ 1.29 3.62 19.38| 100kN/m#%#B 2% 1.00{ 10.54 ~ 40.00 156.79| 3m%x# % %| 25.00 ~ 40.00| 3.62 19.38
s 1.00{ 3.52 ~ 11.30 100.00| #H kst 1 1.29 ~ 11.30| 3.00 16.05 s 1.00f 5.00 ~ 10.54 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
14 100kN/m##8% % 1.00]0.00 ~ 3.91 163.73| 3m%x# %% 0.00 ~ 1.62 3.86 20.64| 100kN/m#%#8% % 1.00{ 10.78 ~ 45.32 163.73| 3m%x#8% 5| 25.00 ~ 4532| 3.86 20.64
s 1.00{3.91 ~ 11.69 100.00| #Hlist |1.62 ~ 11.69] 3.00 16.05 s 1.00f 5.00 ~ 10.78 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
15 100kN/m##8% % 1.00{ 0.00 ~ 3.53 156.91|3m%#%%| 0.00 ~ 0.69] 3.41 18.25| 100kN/mM%E#B 2% 1.00{ 11.08 ~ 33.37 156.91| 3m%#x 5| 25.00 ~ 33.37| 3.41 18.25
s 1.00] 3.53 ~ 11.31 100.00f Z=hkl9t | 0.69 ~ 11.31] 3.00 16.05 s 1.00f 5.00 ~ 11.08 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
16 100kN/m##8% % 1.00]0.00 ~ 291 146.16| 3m%#%%| 0.00 ~ 0.52| 3.31 17.74| 100kN/m%E#BZ 5 1.00{ 11.18 ~ 25.25 146.16| 3m%#x 5| 25.00 ~ 25.25( 3.31 17.74
s 1.00{2.91 ~ 10.70 100.00| Zh st 1052 ~ 10.70] 3.00 16.05 s 1.00f 500 ~ 11.18 100.00| Zh kst | 5,00 ~ 25.00( 3.00 16.(§
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B3 -2 FEMICHERATHILBESNOERICHTHER 2/2) _ _ _ _ _EJEJEEJE | TERISEE
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SERMO TinICHEET S ZER A
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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
17 100kN/m##8% % 1.00{0.00 ~ 213 133.10| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.53 ~ 18.80 133.10| 3m%#B 25 =l ~ - - =
s 1.00{2.13 ~ 9.92 100.00f Z=hkist | 0.00 ~ 9.92| 2.38 12.75 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 18.80| 2.38 12.75
18 100kN/m##8 %% 1.00{ 0.00 ~ 0.48 107.14| 3m%x#B 25 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 11.59 ~ 13.37 107.14| 3m%#B 25 =l ~ - - =
s 1.00{ 048 ~ 8.27 100.00f Z=hki4t | 0.00 ~ 8.27| 1.99 10.66 s 1.00f 500 ~ 11.59 100.00f Z=hl4t+ | 5.00 ~ 13.37| 1.99 10.66
19 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
s 1.00]0.00 ~ 6.81 86.17| =hLlst |0.00 ~ 6.81| 1.57 8.40 s 1.00f 500 ~ 9.42 86.17| =nkst | 500 ~ 942 157 8.40
20 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00]0.00 ~ 6.11 76.62| =hLlst |0.00 ~ 6.11| 1.62 8.65 s 1.00f 500 ~ 7.37 76.62| =hLlst | 500 ~ 7.37| 1.62 8.65
91 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 7.25 92.28| #nLlst |0.00 ~ 7.25| 1.64 8.80 s 1.00f 500 ~ 9.68 92.28 #hLlst | 500 ~ 9.68| 1.64 8.80
99 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 7.13 90.64| =h L4 | 000 ~ 7.13| 1.61 8.61 s 1.00f 500 ~ 9.75 90.64| Zh L4t | 500 ~ 9.75 1.61 8.61
23 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 7.24 92.15| Zh L4t |0.00 ~ 7.24| 1.63 8.72 st 1.00f 500 ~ 9.79 92.15 #h 4t | 500 ~ 979 1.63 8.72
04 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.37 80.12| #hLlst |0.00 ~ 6.37| 1.60 8.58 st 1.00f 500 ~ 7.98 80.12| #nkist | 500 ~ 7.98| 1.60 8.58
25 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.67 84.20| #h L4t |0.00 ~ 6.67| 1.57 8.40 s 1.00f 500 ~ 9.03 84.20| =nkst | 500 ~ 9.03| 1.57 8.40
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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